HEMAEE EAd

1. EEE-AEERAN

HERAEAH
/i Fi& %M
FRARS \ERERM (9:00~ (13:00~ (18:00~
12:00) 17:00) 21:00)
Akl A 1 fi;]ﬁ\ﬁi%ﬁ’aé 3,700M 5,000 7,500M
LGNS =
TP A & f?gigg 6,000  8000M| 12,000
i 55 o :
Ry oEa U fig,iz-mg 11,300/  15,100M|  22,600M
INF 256 |= ;
- fjggg 18900/  25200M|  37.800M
Akl A 14 fiﬁﬁ% 11,300/ 15,100/ 22,600
IR L7AEL NS
2o N EfZEE/M
g 2 O A S BB 18,900 25,200 37,800
< N —
g |SRATHE . ShER | se000m|  4s300m| 68000
B A s
BT ome fi{ggg 56,700M|  75.600M| 113,400/
AB A4 figﬁﬁg% 22,600 30,200 45,300
WLGWNE =
S & f?ggg‘] 37,800 |  50,400M| 75,600
- o —
MISRAT S5E B figﬁ;’% 68,000M|  90,700F| 136,000F
B A s
il figi;gj 113.400M| 151,.200M| 226,800
INEEE 2,400 3,200 4,200
SEE) 1,000 1,400 1,400
SE=E(2) 1,000 1,400 1,400
Ex £ 46)) 1,600 2,100M 2,200M
SE=E (4) 1,600 2,100M 2,200M

XKIHE-BHIE-SEOBRKISOFERAMIE, EELEED2EE

B =R
BERAES BERH/E
BHS - MEE ,T’;‘EE FEE o
g




2 ftwER et A

ik
s y FEDOER |FEDER
LLA B ppneT [BEosy | W9
B LABIT B LAB%
500JLY X 165 600M -
P 1,000)LY R 1 Fs i 1,300 700H |,
iR Bk 1,500)L5 1B RS 1,700 7100 <!
2,000)LY X 1 6% 2,400 1,700
s Bt A —= 1,800M| .,
WA #EHH —zh 400M .
SEEW) 16% 90H
o RWE(2) 1 5 90H ¢
RN 222 | BH som] X!
SEEW 1 6% 90H
207 —k —3 21,000 [3%3
Lo —3 1,000 |32

X1 ERYTHRMICIREREDRBNHLHEEE, ChEIRMEICYIY LTS

X2 FHT. FREUVEROERRREC L

XI:FA—EERMNZBHLUEICOI=A5E(F. —A)IZDE




